FooE EERSFFREAKEXRS
BFE7OREEREFFRMEBREARS - XFENREEREFERNEHRERS AFBEFES

%?%SSIEIMF'HEIZE“%?-&ER&: REAXR - XFEI1BHPMREFZRREHRERS
B B ER2710A178(L) “® B P H M ¥
a—2x EXRBEHHKLAE BEI—R EHNER e e &
x & EEREEERHTER RRIE N E D
mPmELBRRnS
T E EERBFERWEEER P 3 ABkE L B
BF HEME TF #¥BEKE

NE 2 2R A i % H#E IIE 2 2R 4 i #%  #E

1A B 2 2:11:39 1 A EB % 1:11:31

2 ®m EF =2 2:19:30 2 A B K N E 1:17:02

3 k& E 2:19:45 3 F 1:19:02

4 A B R N K 2:20:13 4 E BE 1:20:24

5 = f# 2:20:57 5 & H 1:20:34

6 4 F 2:21:34 6 = 37 B 1:20:52

7 & &= I 2:23:07 7 dt A B 1:20:57

8 {#l 22 2:23:56 8 |fif 22 1:20:58

9 kK H 2:24:25 9 k E 1:22:19
1o® F & W & 2:25:48 10# F # B & 1:23:41

BrER AEYE 11£E&K11EA8
B F XM B&

TFEN AEFE 255&EK25M0E
T F KB BK&

mmoee B B (F) ZFR A ik mE| mmee K £ (35 ZFR A iC % fmE
1BEH BER QA E % 31:09 1AL E E % 20:17

12 FH KXKHEHQ 2 % 32:32 12RHWWL ¥AQ # % & 21:55
3B X B QA E KN K 32:36 3 A T () M g 22:08
1T/Rx #HENE E =* 8 :55 1 HBFYFD E E * 13:41

22X HHOQ 2 B 9:25 2 258 WMK@Q B BE KR M K 14:58
3EE BEQR EE RN E 9:33 SEEE &2 1 ‘A B 15:05
1 @wNE—BAQ B E # 24:49 1 MLHH5 2 B E = 9:39

3 2&EE HE () E [ 26:16 3 2mA FM (3 A 10:41
3 K& 12 Q) A B K N K 26:27 3 /5 2 (1) 7B E R N K 10:48
1THE XEWMEA B =% 25:47 1TBEZFZONMNNE E % 10:23

4 2 ¥ £ MWo@2) m B F 26:51 4 2 dH @2 A E K AN K 10:59
JTEH EHEHQ E B 27:04 3 A fam| )k B 11:13
1 % g Q) B B # 9:24 1% EHQE E ¥ 17:31

5 2 th zF Q) & B 9:43 51 8% &,T\(S)?EJEE%J‘“EH:N
3raEa =) @ 2 0:46 3 EH £ (2) #4 F 18:46
1E5R F8QE B # 15:18 K[RRR

6 24Nl —# ) @ E OF 16:30 Xz  SURCC) REM EREMs) ZE %
3 B 820 K E 16:42 1085 BN 20.0 it 2.1 60
1EHE AN A E % 16:17 e Bh 2.0 dJedkm 2.3 61

72 k8 i (2) & E 16:19 128 BN 2.0  dJedkmE 1.6 61
SHEZHEKE () M g2 16:26 138 EEh 22.0 it 2.1 58

¥ INGRJ ---K=#r5cs%k. [NSR] --XFfE#hEcsk [ESR) --XfE% A 5Lk




